‘Economic status is over-emphasised as the main reason for variations in the severity of tectonic hazard impacts.’ What evidence is there to support this view?

(70 marks)

Another factor worthy of examination are the geographical characteristics of a particular location. There are number of factors to consider including both human and physical characteristics.  Taking human characteristics, these can have in an impact in a number of ways.  The population density and built environment in a location can have a significant influence on the level of impact of tectonic hazards.  For example, the volcanic eruption on Sakurijima in Japan in 2005 affected an area with a high population density (Reference).  This meant that there was as significant threat to the population from the volcano, and as a result the Japanese authorities faced a range of challenges in preparing for and managing this hazard.  As a more developed country, Japan is better able to make these preparations and this meant the human features of the area had little influence on the level of impact (Reference).  In contrast the Sichuan earthquake of 2008 had a much greater impact with 70 000 people killed, and 4.8 million people left homeless (Reference).  The parts of this region most densely population were those worst affected and equally the lack of enforcement of construction standards meant that a significant number of buildings were destroyed because they were not built to withstand an earthquake of this magnitude (Reference).  Therefore, the human characteristics of an area can have an impact on the level of challenge presented by tectonic hazards.
Physical factors are also worthy of note, especially when they interact with people.  Two examples illustrate this well.  Firstly, the Kashmir earthquake of 2005 took place in an isolated region of Pakistan which has a mountainous topography. Adding more examples, details and explanation think about the relief and recovery as well, as was the time of year.
Secondly  the Asian Tsunami in 2004 had a drastic effects on the coastlines of Indonesia because in some areas people had removed mangrove swamps which would be a natural barrier to absorb some of the impact of the wave.  Adding more examples, details and explanation.
Relate to title – what does this section tell you about the title?
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